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Paper: 1MA1/1F 
Question Working Answer Mark Notes 

1 16 B1 cao 

3 243 B1 cao 
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Paper: 1MA1/2F 
Question Answer Mark Mark scheme Additional guidance 

5 7776 B1 cao 
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Paper: 1MA1/2F 
Question Working Answer Mark Notes 
21 (a) 6 B1 

 (b) 5 B1 

(c) Shown M1 

C1 

cao 

cao 

for writing 100a or 1000b as a power of 10 (=102a or 103b) or 102a + 3b   
or 100 = 10² and 1000 = 10³  

for complete chain of reasoning leading to conclusion 
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Paper: 1MA1/2F 
Question Answer Mark Mark scheme Additional guidance 

0 (a202 m7 B1

 (b) 125n3p9 B2

(B1

 (c) 8q6r3 B2

(B1 

 cao

 cao 

 for 2 of 3 terms correct in a single product) 

 cao

for 2 of 3 terms correct in a single product) 

Allow multiplication signs 

125n3px  or  125nxp9 where x � 0  or  
an3p9  where a is a number 

mAllow ultiplication signs

8q6rx  or  8qxr3 where x � 0 or  aq6r3  
where a is a number 

PaSeU: 1MA1/1F 
QXeVWiRQ AQVZeU MaUk MaUk Vcheme AddiWiRQal gXidaQce 

26 B1 (a) S10

(b) 2[4\2 M1 

A1 

cao 

foU an\ WZo of 12 · 6 (= 2), [7 ± 3 (= [4), \3 ± 1 (= \2) in a pUodXcW oU ZUiWWen aV 
a fUacWion ZiWh compleWe and coUUecW cancelling of aW leaVW WZo WeUmV 

cao 
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Paper: 1MA1/3F 
Question Answer Mark Mark scheme Additional guidance 

23 (a) n8 B1 

(b) cd3 M1 

A1 

(c) 14
5

x !
M1 

cao 

for partial simplification, eg c or ݀ଷ 

for  ܿ݀ଷ 

for 5x ग़ 14  or 5x = 14 or critical value, 
14
5

 oe 

May be seen as simplification in original 
fraction 

Accept ܿଵ݀ଷ 

Must see carried out correctly, ie at least 
5x ग़ 7 × 2  not just intention seen. 
Allow other signs for this mark. 

A1 14
5

x !  or 2 4
5

x !   or x > 2.8 

Paper: 1MA1/2F 
Question Answer Mark Mark scheme Additional guidance 

20 (a) c3 1 caB1B

 (b) d12 1 caB1B

Paper: 1MA1/1F 
Question Answer Mark Mark scheme Additional guidance 

21 26 M1 

A1 

for the start of a method of simplification,  
eg 2ିହା8 (= 23) or 2ିହൈ2 (= 2ି10) or  28ൈ2 (= 216)

cao 
SC B1 for answer of 64 or 82 or 43 if M0 scored.
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